Warnings Sheet # 6

after quiz 6 for math 204 students

· In the questions starting with “Show that...”, you should behave like you will prove a claim. Just doing some calculations and cancellations is not an acceptable answer in this course. We have learned some proof methods, use them.

· If you want to use direct proof in the first question, start from one side (for example, from the left hand side) and by doing calculations try to get the equation in the other side (i.e. right hand side). 

· You cannot say that A=B if you want to show A=B. This is important, important, important! Please be careful about that. This is a fallacy! Making some cancellations and getting 2=2 is not a proof.  

· While proving an equivalence in the subject of combination, generally, using Pascal's Identity gives a shorter version of the solution. Learn this identity.

· Also, in combination, try not to forget the equality “C(n,k)=C(n,n-k)”.

· “coefficient” means “katsayı” in Turkish language. If the question wants you to find “the coefficient of...”, then your answer will be a “sayı”. 

· In the question “What is the coefficient of (x^4)(y^3) in the expansion of (3x+2y)^7 ?”, you should use Binomial Theorem. 

· i.e. You should know “(3x+2y)^7 = (summation) C(7,k) ((3x)^(7-k))((2y)^k)”.

· You cannot say “(3x+2y)^7 = C(7,3) ((3x)^4)((2y)^3)” or “(summation) C(7,k) ((3x)^(7-k))((2y)^k) = C(7,3) ((3x)^4)((2y)^3)” since “C(7,3) ((3x)^4)((2y)^3)” is just a term in the summation of 8 terms.

· You cannot say “C(7,3) ((3x)^4)((2y)^3) = C(7,3) (3^4)(2^3)” since “x” and “y” deserve a meaning, in fact!

· You cannot leave “C(7,3) ((3x)^4)((2y)^3)” as an answer since it is not a “sayı”. The true answer is “C(7,3) (3^4)(2^3)” which is equal to “35.81.8”.

· In every question, you must prove your answer. 

· i.e. Merely writing “The answer is 0.” is not enough, you must provide explanation.

· In the question “What is the coefficient of (x^3)(y^2) in the expansion of (3x+2y)^7 ?”, the answer is “0” but it needs an explanation:

· “Since 3+2 is not equal to 7, there would be no term as (x^3)(y^2) in the expansion, by Binomial Theorem. So the coefficient of (x^3)(y^2) must be 0.” is enough. 

· Write your solutions in a clear and understandable way. Otherwise, eventhough you got the idea, you will have no right to get a good grade in the midterm and final exams. Be aware of that.

· Solve the quizes of both sections this week, questions are a bit different.

Please take your quizes from my office (fens 1003) to see your mistakes.

Best wishes,


Pinar.

